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Question Number : 1 Question Id : 64635013448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E4E350528599. 1
64535052900, 2



E4E35052901. 3
E4E535052902. 4

Question Number : 1 Question Id : 64635013448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350528599. 1
64535052900, 2
64535052301, 3
E453505230Z. 4

Question Number : 2 Question Id : 64635013449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
645350523903, 1
64535052304, 2
E4E35052905. 3
E4E350523906. 4

Question Number : 2 Question Id : 64635013449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535052302, 1

64535052304, 2

64535052905, 3

64535052906, 4

Question Number : 3 Question Id : 64635013450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535052907, 1
64835052908, 2
E4E35052909. 2
64535052910, 4

Question Number : 3 Question Id : 64635013450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4E350523907. 1
64535052908, 2
6453505239049, 3
645350523910, 4

Question Number : 4 Question Id : 64635013451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E35052911. 1
E4E35052912. 2
64535052913, 3
64535052914, 4

Question Number : 4 Question Id : 64635013451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535052911, 1
64535052912, 2
E4E35052913. 3
E4E35052914. 4

Question Number : 5 Question Id : 64635013452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
645350524915 1

E4E35052916. 2
E4E35052917. 3
E4535052918. 4

Question Number : 5 Question Id : 64635013452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) = (2) T TETEHE
(3) TR Hedl AT HI TEEH FEA (4) T ¥ fgamE w0
Options:

64535052915, 1
64535052916, 2
64535052917, 3
E4E35052915. 4

Question Number : 6 Question Id : 64635013453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

4835052919, 1
4535052920, 2
64535052921, 5
4535052922, 4

Question Number : 6 Question Id : 64635013453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635052919, 1
CAEZE0S2920. 2
CAEZE052921. 2
425052922 4

Question Number : 7 Question Id : 64635013454 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

B4535052923. 1
64535052924, 2
64535052925, 3
EAE35052926. 4

Question Number : 7 Question Id : 64635013454 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =

(3)  FFAFA, T, F=am A0 Tt (4) Terari=ta, Tr=F, F== AT =E

Options:

64635052923, 1
E4E35052924. 2
64535052925, 5
4535052926, 4

Question Number : 8 Question Id : 64635013455 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535052927, 1
64535052928, 2

: No Display Question Number :

Yes

Yes

Yes



EAE35052929. 3
E4535052920. 4

Question Number : 8 Question Id : 64635013455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635052927, 1

64635052928, 2

£4635052929. 3

£4835052930. 4

Question Number : 9 Question Id : 64635013456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

6453505292101

6435052922 2

64535052933, 3

64535052934, 4

Question Number : 9 Question Id : 64635013456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835052931, 1
E4E35052932. 2
64535052922,
64535052934, 4

Question Number : 10 Question Id : 64635013457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

645350529351

64535052936, 2

E4E35052927. 2

64535052938, 4

Question Number : 10 Question Id : 64635013457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535052935, 1
54635052936, 2
64535052927, 5
64535052928, 4

Sub-Section Number : 2
Sub-Section I1d: 646350633
Question Shuffling Allowed : Yes

Question Id : 64635013458 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635013459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64535052939 1

64535052940, 2

64635052941, 3

64535052942, 4

Question Number : 12 Question Id : 64635013460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

64535052942, 1
64535052944, 2
E4E35052945. 3
E4E35052946. 4

Question Number : 13 Question Id : 64635013461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35052947. 1



E4E35052948. 2
B4535052945. 3
64535052950, 4

Question Number : 14 Question Id : 64635013462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525052951. 1
E4535052952. 2
645350529535 2
64535052954 4

Question Number : 15 Question Id : 64635013463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535052955, 1

64535052356, 2

64535052957, 3

64535052958, 4

Question Id : 64635013458 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635013459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
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Options:

64835052939, 1
4535052940, 2
64535052941, 5
64535052942, 4

Question Number : 12 Question Id : 64635013460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

64535052943, 1
64535052944, 2
64535052945, 3
E4E3505294E. 4

Question Number : 13 Question Id : 64635013461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35052947. 1
E4E35052948. 2
B4535052945. 3
64535052950, 4

Question Number : 14 Question Id : 64635013462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  =HE TR T F9 F0H

(2) =TI TEAETT 1 T T
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Options:
E4de35052951. 1
64535052952, 2

E4E35052953. 3
E4E35052954. 4

Question Number : 15 Question Id : 64635013463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
402350525955 1
64635052956, 2
64635052957 2
64535052955, 4

Sub-Section Number: 3
Sub-Section 1d: 646350634
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635013464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
45250529559 1

E4E35052960. 2
E4E35052961. 3
EAE35052962. 4

Question Number : 16 Question Id : 64635013464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835052959, 1
E4E350529E0. 2
64535052961, o
4535052962, 4

Question Number : 17 Question Id : 64635013465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535052963, 1
E4E35052964. 2
E4E350529E5. 2
64535052966, 4

Question Number : 17 Question Id : 64635013465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535052963, 1
64535052964, 2
E4E35052965. 3
EAE35052966. 4

Question Number : 18 Question Id : 64635013466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25052967. 1
EAE25052968. 2
E45350529659. 3
64535052970 4

Question Number : 18 Question Id : 64635013466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35052967. 1
64535052968, 2
64535052969, o
64535052970, 4

Question Number : 19 Question Id : 64635013467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4E35052971. 1
BAE35052972. 2
64535052973, 3
64535052974, 4

Question Number : 19 Question Id : 64635013467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w41 4 TR fafime warea = fau a6 7 fawasg =1 giomy g
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(3) T (4) T S T
Options:

64535052971, 1
EAEZS052972. 2
EAE35052973. 3
BAE35052974. 4

Question Number : 20 Question Id : 64635013468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



EAE35052975. 1
BAE35052976. 2
BAE35052977. 3
64535052975, 4

Question Number : 20 Question Id : 64635013468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FHTTT THIT % dedl & T #H 7 -
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(3) AT, ANTEFA, T, B

(4) 4, TH, TEATEA, TIEED
Options:
64635052975, 1
E4E35052976,. 2
64535052977, 5
64535052978, 4

Question Number : 21 Question Id : 64635013469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

B45350529759. 1
64535052980, 2
64535052981, 3
EAE35052982. 4

Question Number : 21 Question Id : 64635013469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

64535052979, 1
64535052980, 2
64535052981, 3
EAE35052982. 4



Question Number : 22 Question Id : 64635013470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

EAE35052983. 1
E4E35052984. 2
B4535052985. 3
64535052956, 4

Question Number : 22 Question Id : 64635013470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

EAE35052983. 1
E4E35052984. 2
64535052985, 3
64535052956, 4

Question Number : 23 Question Id : 64635013471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535052987, 1
64535052988, 2
E4EZ5052989. 3
E4E35052930. 4

Question Number : 23 Question Id : 64635013471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foefl AT T 1 % 250 T T O B A T A WA T F A=A G 4Z TR

ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

B4E535052987. 1
64535052988, 2
64535052959, 3
E4E35052930. 4

Question Number : 24 Question Id : 64635013472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

645350529591, 1
645350529382, 2
64535052933, 3
E4E35052954. 4

Question Number : 24 Question Id : 64635013472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

64535052991, 1
64535052932, 2
E4E350529583. 3
EAE35052994. 4

Question Number : 25 Question Id : 64635013473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

645350529585, 1



EAE350529396. 2
B45350529587. 3
64535052958, 4

Question Number : 25 Question Id : 64635013473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

64535052995, 1
64535052936, 2
E4E350529587. 3
EAE350529398. 4

Question Number : 26 Question Id : 64635013474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E35052995. 1
E4E35053000. 2
64535053001, 3
64535053002, 4

Question Number : 26 Question Id : 64635013474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E4E35052999. 1
64535053000, 2
64535053001, 3
E453505300Z2. 4

Question Number : 27 Question Id : 64635013475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35053003. 1
E4E35053004. 2
64535053005, 3
64535053006, 4

Question Number : 27 Question Id : 64635013475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35053003. 1
E4E35053004. 2
E4535053005. 3
E4535053006. 4

Question Number : 28 Question Id : 64635013476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535053007, 1
64535053008, 2
64535053009, 3
E4EZ5053010. 4

Question Number : 28 Question Id : 64635013476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

645350532007, 1
E4E35053008. 2



E4E35053003. 3
E4535053010. 4

Question Number : 29 Question Id : 64635013477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E35053011. 1
E4E35053012. 2
E4E35053013. 3
64535053014, 4

Question Number : 29 Question Id : 64635013477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
646535053011, 1
64635053012 2

64535053013, 3
64535053014, 4

Question Number : 30 Question Id : 64635013478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535053015. 1
64535053016, 2
64535053017, 3
64535053015, 4



Question Number : 30 Question Id : 64635013478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4535053015. 1
E4535053016. 2
64535053017, 3
645350530158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350635
Question Shuffling Allowed : Yes

Question Id : 64635013479 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635013480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E350530143. 1
E4E35053020. 2
B4E535053021. 3
64535053022, 4



Question Number : 32 Question Id : 64635013481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

EAE35053023. 1
E4E35053024. 2
B4535053025. 3
64535053026, 4

Question Number : 33 Question Id : 64635013482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535053027, 1
64535053028, 2
64535053029, 3
E4EZ5053030. 4

Question Number : 34 Question Id : 64635013483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

1 12 (2) 14
(3) 10 4y 13
Options:

64535053021, 1
64535053032, 2
E4E35053033. 3
E4E35053024. 4

Question Number : 35 Question Id : 64635013484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35053035. 1



EAE35053036. 2
E4E535053037. 3
64535053038, 4

Question Id : 64635013479 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635013480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4535053013. 1
64535053020, 2
64535053021, 3
64535053022, 4

Question Number : 32 Question Id : 64635013481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

B4535053023. 1
64535053024, 2
64535053025, 3
64535053026, 4



Question Number : 33 Question Id : 64635013482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535053027, 1
64535053028, 2
E4E35053029. 3
E4E35053020. 4

Question Number : 34 Question Id : 64635013483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35053021. 1
E4E35053032. 2
E4535053033. 3
64535053024, 4

Question Number : 35 Question Id : 64635013484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

64535053035, 1
E4E35053036. 2
E4E35053037. 3
E4535053028. 4

Sub-Section Number: 5
Sub-Section Id: 646350636
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635013485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

4535053039, 1
64535052040, 2
64535053041, =
64535053042, 4

Question Number : 36 Question Id : 64635013485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350530359. 1

64535053040 2

64635053041 =

E4B35053042. 4

Question Number : 37 Question Id : 64635013486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535053043, 1
64535053044, 2
64535053045, 3
E4E3505304E, 4

Question Number : 37 Question Id : 64635013486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535053043, 1
64535053044, 2
64535053045, 3
E4E3505304E, 4

Question Number : 38 Question Id : 64635013487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

64535053047 1

64635053048 2

64835053049 2

E4E25052050. 4

Question Number : 38 Question Id : 64635013487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35053047. 1
645350530458, 2
64535053049, 3
64535053050, 4

Question Number : 39 Question Id : 64635013488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35053051. 1
EAE35053052. 2



E4E35053053. 3
54535053054, 4

Question Number : 39 Question Id : 64635013488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535053051, 1
64535053052, 2
E4E35053053. 3
EAE35053054. 4

Question Number : 40 Question Id : 64635013489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35053055. 1
E4E35053056. 2
64535053057, 3
64535053058, 4

Question Number : 40 Question Id : 64635013489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535053055. 1
64535053056, 2
64535053057, 3
64535053058, 4

Question Number : 41 Question Id : 64635013490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535053059. 1
64535053060, 2
64535053061, 3
E4535053062. 4

Question Number : 41 Question Id : 64635013490 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

64535053059, 1
64535053080, 2
E4EZ5053061. 3
EAE35053062. 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635013491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

645350530682, 1
E4EZ5053064, 2
E4E35053065. 3
EAE35053066. 4

Question Number : 42 Question Id : 64635013491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

B4535053063. 1
64535053064, 2
64535053065, 3
EAE3505306E. 4



Question Number : 43 Question Id : 64635013492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535053067, 1
64535053068, 2
64535053089, 3
EAEZ5053070. 4

Question Number : 43 Question Id : 64635013492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535053067, 1
64535053068, 2
E4E35053069. 3
EAE35053070. 4

Question Number : 44 Question Id : 64635013493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535053071, 1
64535053072, 2
E4EZ5053073. 3
E4E35053074. 4

Question Number : 44 Question Id : 64635013493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535053071, 1
64535053072, 2
E4E35053073. 3



EAE35053074. 4

Question Number : 45 Question Id : 64635013494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

64535053075, 1
64535053076, 2
4835052077, 2
45350532078, 4

Question Number : 45 Question Id : 64635013494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635053075, 1
64635053076, 2
64635053077, 3
64635053078, 4

Question Number : 46 Question Id : 64635013495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

645350530749, 1
64535053080, 2
E4EZ5053081. 3
EAE35053082. 4

Question Number : 46 Question Id : 64635013495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E350530739. 1
64535053080, 2
64535053081, 3
64535053082, 4

Question Number : 47 Question Id : 64635013496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4525053085. 1

64535053054, 2

64535053085, 3

64835053086, 4

Question Number : 47 Question Id : 64635013496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
4835053083, 1
64535053054, 2

E4E35053085. 3
E4E35053086. 4

Question Number : 48 Question Id : 64635013497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35053087. 1
64535053088, 2



EAE35053089. 3
B45350530380. 4

Question Number : 48 Question Id : 64635013497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tafaa 8 2 F3-1 Sy 16 w e 2=+ 27

(1) FHAZIA (2) T =TI
(3) FHEW (4) St AT
Options:

64535053087, 1
64535053088, 2
E4E35053089. 3
E4E35053030. 4

Question Number : 49 Question Id : 64635013498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E825052031. 1

E4E250530892. 2

E45350530593. =

645350530594 4

Question Number : 49 Question Id : 64635013498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635053091, 1
64635053092, 2

E4E350530393. 3
E4E350530594. 4

Question Number : 50 Question Id : 64635013499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E4535053085. 1
64535053086, 2
64535053087, 3
64535053038, 4

Question Number : 50 Question Id : 64635013499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

64535053085, 1
64535053036, 2
64535053037, 3
E4E35053035. 4

PART 11 Spanish

Section Id : 646350333

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350637
Question Shuffling Allowed : Yes

Question Id : 64635013500 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 55)
Juestion Label | Comprehension



Lea el siguniente texto y responda a las preguntas gue se
dan a continuaci én:

De la mizma forma que en una galeria de espejos el tigre v los
cuchillos de Borgesse multiplican indefinidamente, asi también la
violenriase produce azi misma heasta el infinito al reflejarze en la
pantalla de televisidn, en laradio v en log periddicos cada dia. La
caparidad de informeacién ha cambiado la naturaleza de las cosas.
Las camearss penetran shora por el mismo boguete que acaba de
abrir la navajea del homicidaa En un pasillo del juzgado, los
reporteros ponen el microfono en laboca de los asesinos, los cuales
ofrecen al mundo su punte de wvista con una sonrisa placida
MNinguna matsnza se considera valida si no es televisada en
directo.

Manuel Vicent, El Pais

Sub questions

Question Number : 51 Question Id : 64635013501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Laideacentral del texto es:

(1) labrutalidad de lavielencia

(2) ladiscriminacion del género

(3) lasobrecargade lainformacion

(4) las nuevas tecnologias de los medios de comunicaeidn
Options:
E4535053099. 1
E4525052100. 2

E4535053101. 2
64535053102, 4

Question Number : 52 Question Id : 64635013502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La palabra “bogquete™ en el texto significa:

(1) herida

(2) oclusion

(3) boca
(4) grieta
Options:

E4535053103. 1
64535053104, 2
64535053105, 3
64535053106, 4

Question Number : 53 Question Id : 64635013503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ezcoja el antinimo de la palabra “plécida”™
(1) agradada
(2) hestiada
(3) deleitada

i4) embelezada
Options:
64535053107, 1
64535053108, 2
64535053109, 2
6435053110, 4

Question Number : 54 Question Id : 64635013504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Ninguna matanza se considera vélida si no es televisada en
directo”, Estafraze significa que:

(1) los medios crean un universo paralelo de verdad
(2] los espectadores dotan de validez atodo acto de violencia
(3) los medios proveen laevidenciaparalas matanzas
4) latelevisitn convalidalavielencia
Options:
64535053111, 1
E4B25053112. 2

E4535053113. 3
E4535053114. 4

Question Number : 55 Question Id : 64635013505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“La caparidad de informerién ha cambiade la naturaleza de las
cosas”. Seglin el texto, esta frase significa

(1) losmedios masives manufacturan consenso
(2) losmedios masives alteran laesenciade larealidad
(3) latecnologiaexpande horizontes

(4) s6lo eluso de tecnologia da acceso alainformaeidn

Options:

64835053115, 1
4535052116, 2
64535052117, 2
64535053118, 4

Question Id : 64635013500 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 55)
Juestion Label | Comprehension



Lea el siguniente texto y responda a las preguntas gue se
dan a continuaci én:

De la mizma forma que en una galeria de espejos el tigre v los
cuchillos de Borgesse multiplican indefinidamente, asi también la
violenriase produce azi misma heasta el infinito al reflejarze en la
pantalla de televisidn, en laradio v en log periddicos cada dia. La
caparidad de informeacién ha cambiado la naturaleza de las cosas.
Las camearss penetran shora por el mismo boguete que acaba de
abrir la navajea del homicidaa En un pasillo del juzgado, los
reporteros ponen el microfono en laboca de los asesinos, los cuales
ofrecen al mundo su punte de wvista con una sonrisa placida
MNinguna matsnza se considera valida si no es televisada en
directo.

Manuel Vicent, El Pais

Sub questions

Question Number : 51 Question Id : 64635013501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Laideacentral del texto es:

(1) labrutalidad de lavielencia

(2) ladiscriminacion del género

(3) lasobrecargade lainformacion

(4) las nuevas tecnologias de los medios de comunicaeidn
Options:
E4535053099. 1
E4525052100. 2

E4535053101. 2
64535053102, 4

Question Number : 52 Question Id : 64635013502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La palabra “bogquete™ en el texto significa:

(1) herida

(2) oclusion

(3) boca
(4) grieta
Options:

E4535053103. 1
64535053104, 2
64535053105, 3
64535053106, 4

Question Number : 53 Question Id : 64635013503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ezcoja el antinimo de la palabra “plécida”™
(1) agradada
(2) hestiada
(3) deleitada

i4) embelezada
Options:
64535053107, 1
64535053108, 2
64535053109, 2
6435053110, 4

Question Number : 54 Question Id : 64635013504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Ninguna matanza se considera vélida si no es televisada en
directo”, Estafraze significa que:

(1) los medios crean un universo paralelo de verdad
(2] los espectadores dotan de validez atodo acto de violencia
(3) los medios proveen laevidenciaparalas matanzas
4) latelevisitn convalidalavielencia
Options:
64535053111, 1
E4B25053112. 2

E4535053113. 3
E4535053114. 4

Question Number : 55 Question Id : 64635013505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“La caparidad de informerién ha cambiade la naturaleza de las
cosas”. Seglin el texto, esta frase significa

(1) losmedios masives manufacturan consenso
(2) losmedios masives alteran laesenciade larealidad
(3) latecnologiaexpande horizontes

(4) s6lo eluso de tecnologia da acceso alainformaeidn
Options:

E4E825053115. 1

E4B25053116. 2

E4525053117. 2

E4525053118. 4

Sub-Section Number: 2
Sub-Section Id: 646350638
Question Shuffling Allowed : Yes

Question Id : 64635013506 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)



Cuesticon Label | Comprehension

Complete el siguiente textocon laopeifncorrectaquese de a
continuacion:
Estuvo trabajando quinee dias en Madrid v a lo largo de sus
(il localizd en la Biblioteca Macional tres asuntos que podian
(ii)  parasn tesis:unaleyendapiadesamorisea uncuento
eraunamujer laprotagonista, los trezhablaban de purificaciones
v __(iv) propiciatorics. Regresd alos Estados Unidoes, e
mmtentabaencontrar elhilo _ (v ] que le aclarase laverdadera
naturaleza de los tres asuntos. Magia, Misterio, Mito, Mujer.

Jozé Maria Merine

Sub questions

Question Number : 56 Question Id : 64635013507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(1) Rellene el hueco (6) del texto:

(1) investigariones
(2) ex&menes

(3) reportajes

(4] entrevistas

Options:

48350521191
4535052120 2
64535052121, 5
64535052122 4

Question Number : 57 Question Id : 64635013508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(11) Rellene el hueco (7) del texto:

(1) fariliter

(2) pustarle

(8) servirle

(d) utilizer
Options:
64635053123 1
64835053124 2
E4B35053125 =2
EAE25053126. 4

Question Number : 58 Question Id : 64635013509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(1ii1} Rellene el hueco (8) del texto:

(1) historia
(2) tarea
(3) poema
(4) escena

Options:



E4E35053127. 1
64535053128, 2
64535053125, 3
64535053120, 4

Question Number : 59 Question Id : 64635013510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(iv) Rellene el hueco (9) del texto:
(1) imégenes

(2) sacrificios

(3) costumbres

(4) leves

Options:

E4E825052121.1
E4B25053132. 2
E4535053133. 3
64535053134 4

Question Number : 60 Question Id : 64635013511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(w1} Rellene el hueco (10) del texto:

(1) comin
(2) distintoe
(8) conductor
i4) Atador
Options:
64535053135,
64535053136,
48350532137,
45350531386,

[ N

Question Id : 64635013506 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Cuesticon Label | Comprehension

Cnmple‘te el siguiente texto con la opcibn correcta que se de a
continuacion:
Estuvo trabajande quinee dias en Madrid, v alo large de sus
(i) localizé en la Biblioteca Narional tres ssuntos que podian
(ii) _ parasu tesis:una leyendapiadesamoerises, un cuento
erauna mujer laprotagonista, los treshablaban de purificaciones
v __(iv) propiciateries. Regresi alos Estades Unides, e
imntentabaencontrar elhile _ (v ] que le aclarase laverdadera
naturaleza de los tres asuntes. Magia, Misterio, Mito, Mujer.

José Maria Merino

Sub questions

Question Number : 56 Question Id : 64635013507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
(i) Rellene el hueco (6} del texto:
(1} investigaciones
(2) exémenes
(3) reportajes
(4) entrevistas
Options:

E45235053119. 1
64535053120 2
64535053121 =
64535053122 4

Question Number : 57 Question Id : 64635013508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(i) Rellene el hueco (7) del texto:

(1) farilitar

(2) gustarle

(3) servirle

(4) utilizar
Options:
E4525052125. 1
E4525053124 2
64535053125 2
64635053126 4

Question Number : 58 Question Id : 64635013509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(iii} Rellene el hueco (8) del texto:

(1} historia
(2) tarea
(3] poema
(4) escena

Options:

64635053127, 1
4535052128, 2
64535052129, 5
64535052120 4

Question Number : 59 Question Id : 64635013510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(iv) Rellene el hueco (9) del texto:
(1) imagenes

(2) secrificios

(3) costumbres

(4) leves

Options:

64635053131, 1
64535053132 2
64535053133 2
64835052124 4

Question Number : 60 Question Id : 64635013511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(+) Rellene el hueco (10) del texto:

(1) eomin

(2) distinte
(3) conductor
i4) Atador

Options:

64535053135,
4835053136,
4535053137,
64535053138,

o LIPS

Sub-Section Number : 3
Sub-Section I1d: 646350639
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 64635013512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sustituya lalz) palabra(s) en negrita:

Jusna es mmy reticente a ir a ruedas de prensa cologuiez v
conferencias,

(1) tieneunagrsn aficion
(2} esmuyreacia

(3) estdamuy predispuesta
(4] estaasequible

Options:

64535053139, 1
64535053140 2
64535053141, =2
64835052142 4

Question Number : 61 Question Id : 64635013512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Sustituya lalz) palabralz) en negrita:

Juana es muy reticente a ir a ruedas de prensa, cologuios v
conferencias,

(1) tieneunagran sficién

(2) esmuyreacia

(3) estédmuy predispuesta

(4) estassequible
Options:
64535053139, 1
64535053140, 2

E4E525053141. 3
E4B25053142 4

Question Number : 62 Question Id : 64635013513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Complete.

Juan vigjaba con una cuerda en la maleta pera escapsr por la
ventana, por si el hotel
(1) =eincendiaba
(2) =zeincendie
(3) s=einecendiaria
(4) sehabriaincendiado
Options:
64535053143, 1
64535053144 2
E4dE35052145 2
64535052146, 4

Question Number : 62 Question Id : 64635013513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Complete.

Juan vigjaba con una cuerda en la maleta pera escapsr por la
ventana, por si el hotel
(1) =eincendiaba
(2) =zeincendie
(3) s=einecendiaria
(4) sehabriaincendiado
Options:
64535053143, 1
64535053144 2
E4dE35052145 2
64535052146, 4

Question Number : 63 Question Id : 64635013514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Complete.

Ultimamente, se me va un poco la cabeza dije al
médico, pero él ni caso.

(1) Sela

(2) Sela

(3) Sele

(4) Se

Options:
64535053147, 1
E4B2505214E. 2
E4525053149 3
E4535053150. 4

Question Number : 63 Question Id : 64635013514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Complete.

Ultimamente, se me va un poco la cabeza dije al
médico, pero él ni cozo.

(1} Sels

(2) Sela

(3) Sele

(4) Se

Options:
E4525052147. 1
E4525053148. 2
645350531459 =
64635053150 4

Question Number : 64 Question Id : 64635013515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Complete.
A mime parece mejor que vayas ti, puedas, claro.
(1) siempre que

(2) anoser que

(3) de ahi que

(4) =6losi
Options:
E4525052151. 1
E4B25053152. 2

64535053153, 3
64535053154, 4

Question Number : 64 Question Id : 64635013515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Complete.
A mime parece mejor que vayas td, puedss, claro,
(1) siempre que

(2) anoser que

(3) de ahi que
(4) =6losi
Options:

64535053151, 1
64535053152, 2
64535053153, 3
E4E35053154. 4

Question Number : 65 Question Id : 64635013516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sustituya la(s) palabrais) en negrita

El precio del tabaro ha experimentado esta semana un nueve
aumento arbitrario que hamolestade amuchoes, aungue ne a todos
por igual.

(1) répide

(2) excesivo

(3) injustificado
(4) atiborrado
Options:
E4535053155. 1
E4525052156. 2

E4535053157. 3
64535053158, 4

Question Number : 65 Question Id : 64635013516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Sustituya la(s) palabrals) en negrita

El preecio del tabaro ha experimentado esta semana un nueve
aumento arbitrario que hamolestade amuchos, sungue ne a todos
por igual.

(1) répide

(2) excesive

(3) injustificado
(4) atiborradoe
Options:
64535053155 1
64535053156, 2

E4dE825053157. 3
E4B25053158. 4

Question Number : 66 Question Id : 64635013517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sustituya lalz) palabrais) en negrita:

La siesta ez una costumbre cada vez menos arraigada entre la
gente joven de estapais.

(1} atractiva

(2] firme

(3] popular

(4) eomun
Options:
E4525053159. 1
E4535053160. 2
64535053161, =
64835053162 4

Question Number : 66 Question Id : 64635013517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Sustituya lalz) palabrais) en negrita:

La siesta es una costumbre cada vez menos arraigada entre la
gente joven de esta pais.

(1) stractiva

(2) firme

(3) popular

(4) comin
Options:
E4535053153. 1
E4E25052160. 2
E4525053161. 3
E4535053162. 4

Question Number : 67 Question Id : 64635013518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Sustituya la(s) palabrais) en negrita:

La fiesta del sdbado fue, desde luego, todo menos un desenfreno,
como que acabd antes de empezar,

(1) wun aburrimiento
(2) uneaorgia
(3) unadesmesura

i4) un disgusto

Options:

64635053163, 1
64835052164, 2
E4E35052165. 2
64535052166, 4

Question Number : 67 Question Id : 64635013518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sustituva lals) palabrais) en negrita:

La fiesta del sébado fue, desde luego, todo menos un desenfrena,
como que acabb antes de empezar,

(1) wun aburrimiento
(2} wunaorgia
(3) unadesmezura

(4) wun disgusto

Options:

64535053163, 1
64535053164, 2
64535053165, 2
E4E35052166. 4

Question Number : 68 Question Id : 64635013519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sustituya lais) palabraiz) en negrita:

Siempre provoecapreblemas en las reuniones porgque como no tiene
pelos en lalengua. ..

(1) eriticamuche
i(2) dieelo que piensa
(8) insultamucho
i(4) dice tonteriss
Options:
4835053167, 1
E4E25052168. 2
E4525053169. 3
E4535053170. 4

Question Number : 68 Question Id : 64635013519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Sustituya lais) palabraiz) en negrita:

Siempre provoecapreblemas en las reuniones porgque como no tiene
pelos en lalengua. ..

(1} eriticamuche
(2} dire lo que piensa
(3) insultamucho
i(4) dice tonterias
Options:
64535053167, 1
64635053168 2
64535053169 3
64535052170 4

Question Number : 69 Question Id : 64635013520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Sustituya laiz) palabrais) en negrita:

Lo malo de Antonioe, ez lo inzoportable que se pone cuando se las da
de listo.

(1) =eeree que zabe més que nadie
(2) sehace el ingeniogo
(3) =eponechistozo
(4) =eponefurioso
Options:
E4E825052171.1
EAB25053172. 2

E4535053173. 3
64535053174, 4

Question Number : 69 Question Id : 64635013520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Sustituya laiz) palabrais) en negrita:

Lo male de Antenie, eslo inzoportable que ze pone cuands se lac da
de listo.

(1) =eeree que sabe més que nadie

(2) sehsace el ingenioso

(3) zeponechistozo

(4) =eponefuriozo
Options:
645350531711
64635053172 2
64535052173 3
E4E825052174. 4

Question Number : 70 Question Id : 64635013521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sustituva lals) palabrais) en negrita:
Esuna de ezas personas que cuande se pone a dar la nota, no sabes
dénde meterte.

(1) ecantar

(2) discutir con lagente
(8) lamer la atencion
(4) luchar

Options:
64635053175, 1
E4E35053176. 2
4535053177 2
64535052178, 4

Question Number : 70 Question Id : 64635013521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sustituva lals) palabrais) en negrita:
Esuna de ezas personas que cuande se pone a dar la nota, no sabes
dénde meterte.

(1) ecantar

(2) discutir con lagente
(3] lamer la atencion
(4) luchar

Options:
64635053175 1
64835053176 2
E4B25052177. 3
E4525053178. 4

Question Number : 71 Question Id : 64635013522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Complete.

(INo dieron explicariones sobre a dénde iban v
cufndo volverian ?

(1) también

(2) tampoco

(3) encima

(4) asimizmeo
Options:
E45235053179. 1
64535053180 2
64635053181 2
645350523182 4

Question Number : 71 Question Id : 64635013522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Complete.

(Mo dieron explicariones sobre a dénde iban v
cufindo volverian ?

(1) también

(2) tampoco

(3) encimea

(4) asimizsmeo
Options:
4535053179, 1
E4525053180. 2
E4535053181. =
64535053182 4

Question Number : 72 Question Id : 64635013523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Justituya lals) palabrais) en negrita:

Yahemos tenido muchas veces este problema v la misma discusion.
Asi gue llueve sobre mojado.

(1) estamos de scuerdo
(2) lasituaciénse repite
{3) hemos terminado
(4) hemos discutide
Options:
645350531832 1
64535053184, 2

64535053185, 3
64535053186, 4

Question Number : 72 Question Id : 64635013523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Justituya lals) palabrais) en negrita:

Yahemos tenido muchas veces este problema v la misma discusion.
Asi que llueve sobre mojado.

(1) estsmos de scuerdo
(2) lasituariénze repite
{3) hemos terminado
(4) hemos discutido
Options:
E4E25052185. 1
E4525053184. 2

E4535053185. 3
64535053186, 4

Question Number : 73 Question Id : 64635013524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Sustituya lalz) palabrals) en negrita:

A pesar de gque mi jefa me dijo gue no me prescupsra a mi me
parece que agui hay gato encerrado.

i1) elgatoha desaparecido
(2} wvahsan decidide algo
(3) pesaalgoraro

(4) heyun gato en lajaula

Options:

4635053187, 1
64535052188, 2
64535053189, =
64535053190 4

Question Number : 73 Question Id : 64635013524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sustituya la(s) palabrals) en negrita
A pesar de gque mi jefa me dijo gue no me preccupara a mi me
parece gue agui hay gate encerrado.

(1) elgatoha desapareeido
(2} wahan decididoalgo
(3) pesaalgoraro
(4) heyun gato en lajaula
Options:
64535053187 1
64835053188 2
64535052189 5
E4525052190. 4

Question Number : 74 Question Id : 64635013525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i Cuél de las siguientes afirmaciones NO refleja la domesticacitn en
la traduccion?
(1) Amoldael texto segian los valores de lacultura de llegada

(2) Noestaligada al lugar en el cual ha sido producida

(3) Envuelve intereses, perspectivas que definen laforma en lacual
serarealizada

(4) Implicalaproduccion de un texto que sigue intereses especificos.
Options:

646350531391 1

64535053132 2

E4E825052185. 3

E4525053194 4

Question Number : 74 Question Id : 64635013525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i Cuél de las siguientes afirmaciones NO refleja la domesticacitn en
la traduccion?
(1) Amoldael texto segin los valores de lacultura de llegada.

(2) Noestaligada al lugar en el cual ha sido producida

(3) Envuelve intereses, perspectives que definen laforma en lacual
serarealizada

(4) Implicalaproduceion de un texto que sigue intereses especificos.
Options:

4535053191, 1

64535052192 2

E452505318935. 3

E45350531594 4

Question Number : 75 Question Id : 64635013526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



LQue funcion del lenguaje predomina en lafrase “El Talgo de Bilbao

llegarécon retraso” ?

(1} Estética

(2] Conativa

i3) Expresiva
i4) Enunciativa
Options:
E45350531595. 1
645350531596, 2
64635053197 2
64535052195, 4

Question Number : 75 Question Id : 64635013526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LQue funcion del lenguaje predomina en lafrase “El Talgo de Bilbao

llegaracon retraso” ?

(1} Estética

(2] Conativa

i3) Esxpresiva
i(4) Enunciativa
Options:
E45250531895. 1
E4535053196. 2
64535053197, 2
64835053198 4

Question Number : 76 Question Id : 64635013527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

En el proceso communicativo, ___ ___ &3 el conjunto de reglas
compsartidas por el emisor v por el receptor.

(1) el estimule
(2) eleddige

(8) elsigne

(4) eleanal
Options:
E45250521959. 1
E4E25053200. 2
64535053201 =
64635053202 4

Question Number : 76 Question Id : 64635013527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



En el procese communicativo, ___ ___ &3 el conjunto de reglas
compertidas por el emisor v por el receptor.
(1) el estimule

(2) eleddigo

(3) elsigne

{4) elceanal
Options:
E453505315959. 1
64535053200, 2
64635053201 2
64535053202 4

Question Number : 77 Question Id : 64635013528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

En la ensefianza de ELE, el método directo se basa en :
(1) laobservacion dela adquisicién de lalenguapor parte delmifio
i2) laobservariin del profesor en el aula
(3) larepeticiinyles “drills” del aprendiz
(4) eluso adecuado de textos literarios
Options:
E4535053203. 1
E4B25053204, 2

E4E35053205. 3
EAE35053206. 4

Question Number : 77 Question Id : 64635013528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
En la ensefianza de ELE, el método directo se basa en :

(1) laobservarion delaadguisicién de lalenguapor parte delnifio
(2) laobservaritn del profesor en el aula

(3) larepeticitnyvlos “drills” del aprendiz

(4) eluso adecuado de textos literarios

Options:

E4535053203. 1

64535053204 2

64535053205, 3
64535053206, 4

Question Number : 78 Question Id : 64635013529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Un conjunto de supuestos con respecto a la naturaleza de la
ensenanza v el aprendizaje de la lengua es:

(1) un método
(2) un enfogque
(3) unatécnica
(4) un disefio
Options:
E4525053207. 1
E4535053208. 2
64535053209 =
64635053210 4

Question Number : 78 Question Id : 64635013529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Un conjunto de supuestos con respecto a la naturaleza de la
ensefianza v el aprendizaje de la lengua es:

(1) un método
(2) un enfogue
(3) unatéenica
(4) un diseno
Options:
E4E35053207. 1
E4B25053208. 2
E4525053209. 3
E4535053210. 4

Question Number : 79 Question Id : 64635013530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Sefiala la afirmerion correcta:
(1} Losfenicios se concentraron en el sur de Espafia
(2) Elnombre de Cartagose asociacon los griegos
(8) Anibal eraun lider romano
(4) Losromanos perdieron las puerras plinicas
Options:
64635053211, 1
64535053212 2
64535053212 5
E4525053214 4

Question Number : 79 Question Id : 64635013530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sefniala la afirmarion correcta:
(1) Losfenicios se concentraron en el sur de Espafia
(2) Elnombre de Cartago se asociacon los griegos
(3) Anibal eraun lider romano
(4) Leosromanoes perdieron las guerras pnicas
Options:
64635053211, 1
64535053212, 2

64535053213, 3
64535053214, 4

Question Number : 80 Question Id : 64635013531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
En Mérida hay un teatro

(1) romano

(2) wisigodo

(3) cartaginés
(4) fenicio
Options:
64635053215 1
64535053216, 2
E4E825053217. 3
E4B25053218. 4

Question Number : 80 Question Id : 64635013531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
En Mé-ridaha:-,' un teatro

{1} romano

(2) wisigodo

(3) ecartaginés
(4) fenicio
Options:
E4525052215. 1
E4525053216. 2
64535053217 2
646350532185 4

Question Number : 81 Question Id : 64635013532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Los mudéjares eran:
(1) eristianos que vivian en tierras arahes
(2) musulmenes que vivian en tierras cristianes
(3) muladies gue vivian en tierras judias
(4) bereberes que vivian en Cérdoba
Options:
64535053219, 1
64535053220, 2

B4E535053221. 3
64535053222, 4

Question Number : 81 Question Id : 64635013532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Losmudéjares eran:
(1) eristianos que vivian en tierras érahes
(2) musulmeanes que vivien en tierras cristianes
(3) muladies gue vivian en tierras judias
(4) bereberes que vivian en Cérdoba
Options:
64635053219, 1
E4E35053220, 2

E4E35053221. 3
EAE35053222. 4

Question Number : 82 Question Id : 64635013533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La Batalla de Covadonga marcea:
(1} elfin de ladominacién musulmana
i2) eleomienzo de la Reconguista
i3) elfin de laReconquista
i4) elcomienzo del remo musulmén

Options:

64535053223, 1
64535053224 2
64835053225 2
4535053226 4

Question Number : 82 Question Id : 64635013533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



La Batalla de Covadonga mearea:
(1) elfin de ladominacién musulmana
i2) elcomienzo de la Reconquista
i3) elfin de laReconquista
(4) elcomienzoe del remo musulmén
Options:
E4E35053223. 1
64535053224 2
64635053225 2
64535053226, 4

Question Number : 83 Question Id : 64635013534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

La signiente fraze sobre Rodrige Diaz de Vivar NO ez correcta:
(1) Elfue conocido como el Cid Campeador
(2) Trebajaba paraloes cristienoes v también paralos moros
(3) Viviaen el Siglo XV
(4) Se puso al servicio delreymorode Zaragoza
Options:
E4B25053227. 1
EABZ5053228. 2

B4E35053229. 3
B4535053230. 4

Question Number : 83 Question Id : 64635013534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
La siguiente fraze sobre Rodrige Diaz de Vivar NO ez correcta:

(1) Elfue conocidocomo el Cid Campeador
(2) Trabajaba paraloes cristisnoes v también paralos moros
(3) Viviaen el Siglo XV
(4) Se puso al servicio delreymoro de Zaragoza
Options:
64835053227, 1
64535053228, 2

EAE35053229. 3
E4E35053230. 4

Question Number : 84 Question Id : 64635013535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



iCual de las siguientes afirmaciones N escorrectasobre lachrala
Celestina ?

(1) Tiene como teméatica lahistoria de Calisto v Melibea
(2] Celesting esuna aleahueta

(3) Losprotagonistas principales se mueren al final

(4) Tiene un desenlace feliz

Options:

64535053231 1

64835053232 2

64535053233 5

E4E25053234. 4

Question Number : 84 Question Id : 64635013535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

iCual de las siguientes afirmaciones NO escorrectasobre lachrala
Celestina ?

(1) Tiene como temética lahistoria de Calizto v Melibea
(2] Celesting esuna aleahueta

(3} Los protagonistas principales se mueren al final

(4) Tiene un desenlace feliz

Options:

64535053231 1

64835053232 2

64535053233 5

E4E25053234. 4

Question Number : 85 Question Id : 64635013536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Laescuelade traductores de Toledo eracreacién de:
(1) Rambn Llull
(2) Alfonso el Sabio
(8) Tbn Hazm
(4} Abd Rehman I
Options:
64535053235 1
64635053236, 2
64535053237, 3
645350532255, 4

Question Number : 85 Question Id : 64635013536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Laescuelade traductores de Toledo eracrescion de:
(1) Rambn Llull
(2) Alfonso el Sabio
(3} Tbn Hazm
(4} Abd Rehman I
Options:
E4535053235. 1
64535053236, 2
64835053237 3
645350532255, 4

Question Number : 86 Question Id : 64635013537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La Armada Invencible fue usadacontra por Felhipe I1

(1) Turquia

(2) Inglaterra
(3) Francia

i4) Holanda
Options:
645350532359 1
64835053240 2
E4B35053241. =
E4E25053242. 4

Question Number : 86 Question Id : 64635013537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La Armada Invencible fue usadacontra por Felhipe I1

(1) Turquia

(2) Inglaterra
(3) Francia

i4) Holanda
Options:
E453505325339. 1
E4B25053240. 2
E4525053241. =
EAE35053242 4

Question Number : 87 Question Id : 64635013538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



El poema “Poderoso caballero es Don Dinero™ NO tiene lasiguiente
caracteristica

(1) amor platénico

(2) lallegadadel diners de América

(3) lamizaginia

(4) lapicardia
Options:
645350532435 1
64635053244 2
64535053245 3
E4EZ505324E. 4

Question Number : 87 Question Id : 64635013538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El poema “Poderoso caballero es Don Dinero™ NO tiene lasiguiente
caracteristica

{1} amor platénico
(2) lallegadadel diners de América
(3) lamiseginia
(4) lapicardia
Options:
E4E35053243. 1
64535053244, 2

64535053245, 3
64535053246, 4

Question Number : 88 Question Id : 64635013539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Relarione eada ohracon su temar

(a) El Alcalde de Zalamea (1) Elmundo del hempa
(b) La fuerzadelasangre (i) Elhonor
ie) Rineonete y Cortadillo  (iii) Lavielaridn
(d) Lazarilo de Tormes (1v) Lapobreza
Code :
(1) (e, (i), (eliid), (di-iv)
(2) (a)={ii), (b)—i), (e)=(iv), (di~iii)
(g) f(aiii), (h)iv), (e){ii), (d)~i)
(4) (a)-{ii), (b)iii), (e)(), (div)
Options:
EAE2E055247. 1
4525055248 2
4525052249 2
C4E2E052250 4

Question Number : 88 Question Id : 64635013539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relarione eada obra con su temea:
(a) EI Alealde de Zalamea (i) Elmundo del hempa
(b) Lafuerzadelasangre (i) Elhonor
ie) Rineonete y Cortadillo  (iii) Lavielarién
(d} Lazarilo de Tormes (1v) Lapobreza
Code :
(1) (e)=i), (b)), (epiid), (d-(iv)
(2 (m)=(ii), (b)), (ed=(iv), (d)—(iii)
(g) (a=iii), (hiv), {e)ii), (d)—i)
(4) (a)ii), (hiii), (e}i), (d-iv)
Options:
4350552471
C4AEZE052248. 2
C4E2E052249 2
C4de3IE053250. 4

Question Number : 89 Question Id : 64635013540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Las caracteristicas del Barrocoson:

. desengario
b.  pesimizsmo
. extremos

d. contrastes

(1) abeyd

2) a,bye

(38) a,byd

4) byd
Options:
64635053251, 1
64635053252 2

64535053253, 3
64535053254, 4

Question Number : 89 Question Id : 64635013540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Las caracteristicas del Barrocoson:

. desengario
b.  pesimizmo
[ extremos

d. contrastes

(1) abcyd
(2) aabye
(3) a,byd
(4) byd

Options:
64535053251, 1
64535053252 2



EAE35053253. 3
B4535053254. 4

Question Number : 90 Question Id : 64635013541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Loz picaroz NO eran protagonistas:
a  jJovenes
b. inconfermes
c acomodados

d. marginales

1) abye

(2) abyd

(3) aeyd

(4) bevd
Options:
64535053255, 1
64635053256, 2

EdB25053257. 3
E4B25053258. 4

Question Number : 90 Question Id : 64635013541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Loz picaroz NO eran protagonistes:
a  jovenes
b. inconformes
e acomodados

d. marginales

(1) sbye

2) abyd

(38) acyd

(4) bevd
Options:
64535053255 1
64635053256, 2

E4E35053257. 3
64535053258, 4

Question Number : 91 Question Id : 64635013542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

El erasmizsmo ofreciaunacritica del:
(1) Islam
(2) Judaizmo
(3) Catolicismo

(4) Protestantismo

Options:



E4E35053259. 1
B4E535053260. 2
E4E535053261. 3
64535053262, 4

Question Number : 91 Question Id : 64635013542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
El erasmismo ofreciauna critica del:
(1) Islam
(2) Judaizme
(3) Catolicismo
(4) Protestantismoe
Options:
646350532549 1
64535053260 2

E4EZ5053261. 3
EAE35053262. 4

Question Number : 92 Question Id : 64635013543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Loz Reyes Catélicos NO eran los promotores de;
(1) ElTribunal de la Inguisicitn
(2) LaSanta Hermandad
(8) LalMesta
(4) La Armada Invencible
Options:
64535053263 1
64635053264, 2
&4535053265. 3
E4EZ5053266. 4

Question Number : 92 Question Id : 64635013543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Loz Reyes Catélicos NO eran los promotores de:
(1) ElTribunal de la Inguisicién
(2) LaSanta Hermandad
(8) LablMesta
(4) La Armada Invencible

Options:

64535053263, 1
64535053264, 2
64535053265 2
E4E35053266. 4



Question Number : 93 Question Id : 64635013544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Relarione cada obra con su pinter:

(8) Vista de Toledo (i} Murille
(b) Venus del Espefo (11} Velasquez
e} La Sagrada Familia del Pajarite(iil) Goya

(d) El dos de mayo (1v) El Greco
Code :

(1) f(api), (b)), (e)Ei), (div)
(2) (aMi), (b)Hi), (eMiv), (d)iii)
(8) (a)=(iv), (b)), (e}{i), (di-{iii)
(4) (a)={iv), (b-iii), (e)-ii), (d)-i)
Options:

4535053267, 1
E4EZ5053268. 2
E4A535053269. 3
64535053270 4

Question Number : 93 Question Id : 64635013544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Relarione cada obra con su pinter:

(a) Vista de Toledo (i} Murille
(h) Venus del Espefo (11} Velasquez
e} La Sagrada Familia del Pajarita(iii) Goya

(d) El dos de mayo (1v) El Greco
Code :

(1) f(api), (b)), e)Ei), (div)
(2) (aMi), (b)Hi), (eMiv), (d)iii)
(8) la)=(iv), (h){ii), (e){i), (di-{iii)
(4) (a)=(iv), (h)=(iii), {e)={ii), (d)}-{i)
Options:

E4525053267. 1
E4B25053268. 2
64535053269 2
64635053270 4

Question Number : 94 Question Id : 64635013545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
La Inquisicion fue instituida para
a  vigilar los falzos eristiancs
b.  controlar los musulmanes
¢. frenar laherejiay las brujas
d.  crear un Indice de libros

(1) beyd
(2) abye
i3) abyd
4) acyd

Options:



EAE35053271. 1
BAE35053272. 2
64535053273, 3
64535053274, 4

Question Number : 94 Question Id : 64635013545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La Inquisicion fue instituida para:
a  vigilar los falzos erizstiancs
b controlar los musulmanes
¢. frenar laherejiay las brujas
d crear un Indice de libros
(1) bewvd
(2] abye
3) a,byd
i4) a,evd
Options:
646350532711
4635053272 2
64635053273 3
4350532274 4

Question Number : 95 Question Id : 64635013546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
{Cuéles afirmaciones sobre Felipe I son correctes?

a Hizo construir El Escorial
b. Tuvo como adversarios a los holandeses
e. Eraunreycosmopolita
d. Sostuve una gran guerracontra los otomanos
i1} abye
(2) abwvd
(3 bevd
(4) acyd
Options:

EAE35053275. 1
EAE35053276. 2
64535053277, 3
64535053278, 4

Question Number : 95 Question Id : 64635013546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



{Cuéles afirmaciones sobre Felipe Il son correctas?

a Hizo construir El Escorial
b. Tuvo como adversarios a los holandeses
e.  Eraun reycosmopolita

d. Sostuve unagran guerracontralos otomanos
(1) abye
(2) abyd
(& beyd
4} acyd
Options:
64535053275 1
64835053276 2
B4AB35053277. 2
E4E25053278. 4

Question Number : 96 Question Id : 64635013547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Durante la Bevolucion Mexicana Pancho Villa era:

(1) Ellider del norte
(2) Elnarcosindicalista
(3) Elliberal mexicano

i(4) Ellider de losnoreleccionistas
Options:

645350532739, 1
64525053280, 2
645250532581, 2
G4AGIL053282. 4

Question Number : 96 Question Id : 64635013547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Durante la Bevolucion Mexicana Pancho Villa era:

(1) Ellider del norte
(2) Elnarcosindicalista
(3) Elliberal mexicono

(4) Ellider de losnoreleccionistas
Options:

645350532739, 1
64535053280, 2
645250532581, 2
64535053282, 4

Question Number : 97 Question Id : 64635013548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Benito Juérez era:

a  elrevolucionarie anarquista de México
b el insigne liberal del Siglo XIX
e. el primer presidente indio de México
d el lider que libré la Guerra de Pasteles

(1) abeyd

(2 bevd

(8 sbye

(4) avye

Options:

E4525053285. 1

E4525053284. 2

E4535053285. 3

64635053256, 4

Question Number : 97 Question Id : 64635013548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

EBenito Juérez era:

a  elrevolucionarie ansrquizsta de Méxicn

b el insigne liberal del Siglo XIX
c. el primer presidente indio de México
d el lider que libré la Guerra de Pasteles

(1) abcyd
2 bevd
3 abye
(4] ave

Options:

64535053283, 1
E4E35053284. 2
E45350523285. 5
64535052286, 4

Question Number : 98 Question Id : 64635013549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Cudl de lss siguientes NO puede ser caracteristica del caudillismo?
(1) Afinidadeon latierra
(2) Apego ala Constitueion
(3) Ordenvprogreso
i4) El Positivismao
Options:
64535053257 1
64535053288 2

EdE250532859. 3
E4B25053280. 4



Question Number : 98 Question Id : 64635013549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

JCual de las signientes NO puede ser caracteristica del candillismo?
(1} Afinidadcon latierra
(2] Apego ala Constitucin
(3) Ordenvprogreso
(4) ElPositivismao
Options:
64535053287 1
64535053288, 2

64535053289, 3
E4E35053230. 4

Question Number : 99 Question Id : 64635013550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Las lineas de Nazra se encuentran en:

(1) Meéxico

(2) Agrentina

(3) Pera

(4) Chile

Options:

E4525053291. 1

E4AE350532592. 2

645350532593 2

648350532594 4

Question Number : 99 Question Id : 64635013550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Las liness de Nazva se encuentran en:
(1) Meéxico
(2) Agrentina
(8) Perd
(4) Chile
Options:
64635053291 1
64535053292 2

E4E350532393. 3
E4E35053294. 4

Question Number : 100 Question Id : 64635013551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



LaVirgen de Guadalupe ssparecié aJuan Diego en:
(1) Meéxica
(2) Argentina
(8) Chile
(4) Perd
Options:
E4E350532585. 1
EAE350532396. 2

E4E35053297. 3
64535053238, 4

Question Number : 100 Question Id : 64635013551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
LaVirgen de Guadalupe aaparecid aJuan Diego en:
(1) Meéxico
(2) Argentina
(8) Chile
(4) Peru
Options:
64535053255 1
64635053296, 2
64535053237, 3
E4E25053288. 4

Question Number : 101 Question Id : 64635013552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

La Casa de Contratacion de Sevillafue instituida para:
(1) regir el comercio entre Espafiay América
(2) nombrar los funcionarios en América

(3) ecuidar losintereses de loscriolles
(4) salvaguardar el ejército en América
Options:

E4dE350532959. 1

4525052200 2

64535052201, 2

64535053202, 4

Question Number : 101 Question Id : 64635013552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



La Casa de Contratacion de Sevillafue instituida para:
(1) regir el comercio entre Espafiay América
(2) nombrar los funcionarios en América
(3) cuidar los intereses de los criollos
i(4) salvaguardsr el ejércitoen América
Options:
645350535293, 1
E4B25053200. 2

E4535053201. 3
E4E35053202. 4

Question Number : 102 Question Id : 64635013553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Laencomienda N0 era:

a  unarecompensa de la Corona alos conquistadores

b. grandes extensiones de tierras v hombres otorgados alos
conquistadores

c. unarecompensa de Espafia para los indigenas
una manera de convertir a les indios

(1) avh
(2) evd
(8) ayd
i4) byd
Options:

64535053303, 1
64535053304, 2
E4E35053305. 3
E4E35053206. 4

Question Number : 102 Question Id : 64635013553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Laencomienda N0 era:

a  unarecompensa de la Corona alos conquistadores

b. grandes extensiones de tierras v hombres otorgados a los
conquistadores

c. unarecompensa de Espana para los indigenas
una manera de convertir a los indios

(1) avh
(2) cvd
(8) ayd
i4) byd
Options:

64535053303, 1
64535053304, 2
E4E35053305. 3
EAE35053306. 4



Question Number : 103 Question Id : 64635013554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
iCuéles afirmariones son incorrectas?
A Hernan Cortés era el consorte de la Malinche
Francizen Pizarro era el conquistader de Argentina

Bartolomeé de las Casas eraun padre jesuita

p P

Las Casss era el promotor de la importancia de esclaves
africanos

(1) bwve

(2] aye

(8) exd

(4) byd
Options:
E45350533207. 1
E4B25053308. 2

E4E35053208. 3
E4E35053210. 4

Question Number : 103 Question Id : 64635013554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
iCuédles afirmariones son incorrectas?
a Hernén Cortés era el consorte de la Malinche

Francizeo Pizarro era el conguistader de Argentina

Bartolome de las Casas eraun padre jesuita

B P

Las Casss era el promotor de la importancia de esclavoes
africanos

(1) bye
(2] ave
(8) cyd
(4) bwvd

Options:

4535053207, 1
64535053208, 2
64535053209, 2
64535053210 4

Question Number : 104 Question 1d : 64635013555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Char Mool eraun dios:
(1) azteca
(2) maya
(3) ineca
(4) =zapoteca

Options:
64535053211, 1



E4E35053212. 2
64535053213, 3
64535053214, 4

Question Number : 104 Question 1d : 64635013555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Chac Mool eraun dios:

(1) azteca

(2) maya

(3] inca

(4) =zapoteea
Options:
645350533111
64635053312 2
64535053213 3
E4E525053514. 4

Question Number : 105 Question Id : 64635013556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
El dioz azteca Quetzaledat]l NO era

(1) =zerpiente emplumada
(2) ereader de lahumanidad
(8) descubridor de Maiz

(4) diosdelalluvia
Options:

64535053315 1
64635053316 2
64535053217, 5
E4525053318. 4

Question Number : 105 Question Id : 64635013556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
El dios azteca Quetzaletat] NO era

(1) =zerpiente emplumada
(2) ereader de lahumanidad
(8) descubridor de Maiz

(4) diosdelalluvia
Options:

64635053315 1
64535053216, 2
E4E825053217. 3
E4525053318. 4

Question Number : 106 Question Id : 64635013557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Loz siguientes son los grandes temas de laconcepeiin neoclasica
del arte vliteratura:

a  Laexaltacitn del “yo”

b El predominio de larazon

e. El empleo de laeritica hasta extremos sativicos
d

El sentimiento de lano plenitud
8. La obediencia a las reglas

(1) abye

(2] beve

(3) c,dve

4) b, dye
Options:
452505232191
C4ds2E052320. 2
E4EZE0EEE2]1. 2
E4AEZE052322. 4

Question Number : 106 Question Id : 64635013557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Loz siguientes son los grandes temas de laconcepeiin neoclasica
del arte vliteratura:

a  Laexaltacitn del “yve”

[ FEl predominio de la razin

e.  El empleo de lacritica hasta extremos satiricos
d

El sentimiento de lano plenitud
¢. Laocbediencia alas reglas

(1) s, bye

(2) beve

(3) c,dve

(4) b,dye
Options:
4535055331591
C4AEZ2E052320. 2
C4E2E052321. 2
CdoIE052322. 4

Question Number : 107 Question Id : 64635013558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

El marco de la noche, los lugares apartados, los cementerios, la
tormenta, es tipico de:

(1) lapoesiaroméntica

(2) lapoesiagalaics-portuguesa
(3) lapoesiarenarentizta

(4) lapoesianeo-clasica

Options:
64535053323, 1
64535053324, 2



EAE35053325. 3
BAE35053326. 4

Question Number : 107 Question Id : 64635013558 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

El marco de la noche, los lugares apartados, los cementerios, la
tormenta, es tipico de:
(1) lapoesiaroméantica

(2) lapoesiagalaico-portuguesa

{(3) lapoesiarenacentista

(4) lapoesianeo-clasica
Options:
64635053523 1
64635053324, 2

64535053325, 3
64535053326, 4

Question Number : 108 Question Id : 64635013559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Loz episodios nacionales de Benito Pérez Galdés son:
(1) unaserie de articules
(2} unaserie de novelas
(3) una trilogiade novelss histiricas
(4) un conjunto de obras teatrales
Options:
E4525053327. 1
E4535053328. 2
64535053329 2
64835053330 4

Question Number : 108 Question Id : 64635013559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Loz episodios nacionales de Benito Pérez Galdés son:

(1) unaserie de articules

(2) unaserie de novelas

(3) una trilogiade novelas histiricas
(4) un conjunto de obras teatrales

Options:

64535053327, 1
64535053328, 2
64535053329 2
E4E35052220. 4

Question Number : 109 Question Id : 64635013560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



El sipuiente es un rasgo tipico de lapoesia modernista:
(1) el determinismo
(2)  elmondlogo interior
(3) loswvaloressensoriales
(4) laintencifn critica
Options:
646350533311
64535053352 2

E4E350535333. 3
E4E35053224. 4

Question Number : 109 Question Id : 64635013560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
El sipuiente es un resgo tipico de la poesia modernista:

(1) el determinizsmo

(2} el mondlogo interior

(3) loswvalores sensoriales

(4] laintencién critica
Options:
453505325101
E4E250533352. 2

E4E35053233. 3
64535053224, 4

Question Number : 110 Question Id : 64635013561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

El honde movimiento revolucionsrio gue se desencadensa en
Barcelona en julio de 1909 se conoce como:

(1) La Restouracitn
i(2) LaSemanaTrégica
(3} La GuerraCarlista

(4) Las Cortes de Cadiz
Options:
64635053335 1
64535053256, 2
E4525053337. 3
E4B250533508. 4

Question Number : 110 Question Id : 64635013561 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



El honde movimiento revolucionsrio gue se desencadena en
Barcelona en julio de 1909 se conoce como:

(1) La Restauraritn
i2) LaSemana Tragica
(3} La GuerraCarlista

(4) Las Cortes de Cadiz

Options:

64535053335, 1
64535053336, 2
64535053337, 2
E4E3505233238. 4

Question Number : 111 Question Id : 64635013562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

La siguiente obra de Gova en blance v negro es una crinica de la
debilidad ¥ corrupcitn humana:

{1} Fusilamiento del 3 de mayo
(2) Lamaja desnuda

(8) Lafamiliade Carlos IV

(4) Loscaprichos

Options:

645350532339, 1
64535053340, 2
645350533241, 2
E4E3505323242. 4

Question Number : 111 Question Id : 64635013562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

La siguiente obra de Gova en blance v negro es una crinica de la
debilidad ¥ corrupcitn humana:

{1} Fusilamiento del 3 de mayo
(2) Lamaja desnuda

(8) Lafamiliade Carlos IV

(4) Loscaprichos

Options:

645350532339, 1
645350533240, 2
64835052241 =2
E4E35053242 4

Question Number : 112 Question Id : 64635013563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Relarione las signientes obras con sus temas:

(a) San Manuel Bueno, mdrtir (i} Los erdides de dos picaros

(b) Tirano Banderas (ii) La desorientacién existencial
del hombre inadaptade

(e} Los infereses creados (it} El desengatio religioso

(d) El drbol de la ciencia {iv) La dictadura

(1) (a=ii), (b}=(iv), (e)=(i), (d)~iii)
(9 (ai), b)), (e}, (d—iv)
(3) (aii), biv), (e)iil), (di)
(4) (e, (b}=(iv), (e)-ii), (d)}~i)

Options:

64835053343 1
645350523244, 2
64535052245, o
64535053346, 4

Question Number : 112 Question Id : 64635013563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Relarione las signientes obras con sus temeas:

(a) San Manuel Bueno, mdrtir (i) Los erdides de dos picaros

(b) Tirano Banderas (i1} La desorientscion existencial
del hombre inadaptade

(e) Los intereses creados (it} El desengafio religioso

(d) El drbol de la ciencia (iv) La dietadura

(1) (a)=iii), (b)=(iv), (e)=(i), (d)={ii)
(2)  (a)={ii), (b)=(iii), (e)=(i), (d)={iv)
(31 (aii), (b)iv), (e}iii), (di)
(4) (a)iii), (b=iv), (e}=(ii), (d)}-i)

Options:

4535053243, 1
645350523244, 2
64535053345 2
645350533246, 4

Question Number : 113 Question 1d : 64635013564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
La siguiente idea NO se puede ssociar con la obra de Jorge Luis
Borges.
(1) Eljuego de loz espejos
(2) Ladefensade los derechos de los indigenas
(3) Elenigmadel misterio
(4] Eltema del infinito

Options:

64535053347, 1
64535053348, 2
64535053249 =
E4E350523250. 4

Question Number : 113 Question Id : 64635013564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



La siguiente idea NO se puede ssocisr con la obra de Jorge Luis
Borges.

(1) Eljuego de loz espejos

(2) Ladefensade los derechos de los indigenas

(3} Elenigmadel misterio

(4) Eltema del infinito

Options:

64535053347, 1
E4E350533248. 2
64535052249, 5
64535052350 4

Question Number : 114 Question Id : 64635013565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lasigmente obrade Roberte Fernéndez Retamar trata el tema de la
identidad latinoamericansa:
(1) Elespejo enterrado
(2) Patas arriba
(3) Ellaberinto de lazoledad
(4) Calibén

Options:

64635053351, 1
64535053352 2
64535053353 2
64535052354 4

Question Number : 114 Question Id : 64635013565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
La siguiente obrade REoberto Fernéndez Eetamar trata el tema de la
identidad latinoamericansa
(1) Elespejo enterrads
(2) Patas arriba
(3) Ellaberinto de lasoledad
{4) Caliban

Options:
645350533510 1

E4E35053352. 2
E4535053353. 3
E45350532354. 4

Question Number : 115 Question Id : 64635013566 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lasiguiente ohrarecoge el debate zobre lacivilicarion v la barbarie en
el contexto de la dictadura de Rosas:
(1} Lesriosprofundes
(2) Amalia
(3) Ariel
(4) Lawvoragine

Options:
64635053355, 1



E4535053356. 2
64535053357, 3
64535053358, 4

Question Number : 115 Question 1d : 64635013566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Lasiguiente ochrarecoge el debate sobre lacivilicarion ylabarbarie en
el contexto de la dictadura de Rosas:

(1) Lesriosprofundes
(2) Amalia

(8) Ariel

(4) Lavoréagine
Options:
E4E35053355,
4535053356,
64535053357,

54535053358,

[ N

Question Number : 116 Question Id : 64635013567 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Relacione los elementos de las dos columnas v escoja la opeidn

correcta

(a) Remedios la Bella (1} Carlos Fuentes

ib) LaMaga (ii} Jorge Luis Borges

() Imca Cienfuegos (111} Julie Cortéazar

(d) Pierre Méneard (iv) Gabriel Gareia Mérquez

(1) (alii), (b)=(iv), (e)=i), (d)-{(iii)
(9) (a=(iv), (b)=fiii), (e)=(i), (d)=(ii)
(8) (aMdii), (b)il), (e}iv), (d)i)
(4) (aiv), (b)-1), (e)-i), (di-{i)

Options:

64835053359, 1

645350523260, 2

645350523361, o

64535053362, 4

Question Number : 116 Question Id : 64635013567 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Relacione los elementos de las dos columnss v escoja la opeidén

correcta:

(a) Remedios la Bella (1} Carlos Fuentes

ib) LaMaga (it} Jorge Luis Borges

() Imca Cienfuegos (111} Julie Cortéazar

(d) Pierre Ménard (iv) Gabriel Gareia Mérquez

(1) (@), (b)=iv), (e)=(i), (d)-{iii)
(2) (aiv), (b)ii), (e)=(i), (d)~ii)
(3) (@), (b)-Gii), (e)iv), (d)-3)
(4) (adv), (b)), (e)—i), (d)ii)

Options:
4535053359 1
64535053360, 2



E4535053361. 3
E4E535053362. 4

Question Number : 117 Question Id : 64635013568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(Cudles de los siguientes elementos pueden relacionsrse con la
sutobiografia de Gabriel Garcia Méarquez?
a un comienzo in media res
b.  laexperienciade ganar el Premio Nobel
C. lahistoria de su pais
d. las influencias literarias sobre su obra

(1) avh

(2} bye

(8) beyd

(4 a,cyd
Options:
64535053363, 1
64535053364, 2
648350533265 2
4535053566, 4

Question Number : 117 Question Id : 64635013568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(Cuéles de los siguientes elementos pueden relacionsrse con la
sutobiografia de Gabriel Garcia Méarquez?
B un comienzo in media res
b. laexperienciade ganar el Premio Nobel
C. la historia de su pais
d. lasz influencias literarias sobre zu obra

(1) ayh

(2) bye

(8 bheyd

(4) sa,cyd
Options:
E4dE35053363. 1
4535052364, 2
646535053365 3
46350533566, 4

Question Number : 118 Question Id : 64635013569 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



iCudles de las siguientes afirmaciones relacionadas con el
“testimonie” come géners son correctas?

surgié como una literatura de emergencia
tiene una fuerte presencia de elementos fantésticos
recoge lahistoria desde la perspectiva de los subalternos

Ao gp

incluye la denuncia de la esclavitud
(1) acyd
(2) abye
(3) beyd
i4) byd
Options:
E4535053367. 1
64535053368 2
64535053369 2

E4B250535370. 4

Question Number : 118 Question Id : 64635013569 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
;Cuéles de las siguientes sfirmaciones relacionadas con el
“testimonio” como género son correctas?

surgié como una literatura de emergencia
tiene una fuerte presencia de elementos fantésticos
recoge lahistoria desde la perspectiva de los subalternos

Ao op

incluye la denuncia de la esclavitud
(1) acyd
(2) abye
(3) beyd
id) byd
Options:
E4525053367. 1
E4535053368. 2
645350533659, 3

64535053370, 4

Question Number : 119 Question Id : 64635013570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Relacione los elementos de las dos columnas v escoja la opeidn

correcta

{a) sutobiografia (i} Siete gatos para Simenon
(b) novela histérica (ii) El pais bajo mi piel

(e) novela del dietador (iii) EI reine de este mundo
{d) novela policiaca (iv) La fiesta del Chivo

(1) (e, (b=, (e)-i), (d)-(iii)
(2) (e)={i), (b)=(ii), {e)={iv), (d)~(iii)
(3) (aMii), (b)), (e)Hiv), (d)i)
(4) (e)={iii), (b)={i), (e)={iv), (di=ii)
Options:
645350533711
4525053372 2
64835053373, 2

EAE35053374. 4



Question Number : 119 Question Id : 64635013570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Relacione los elementos de las des columnas v escoja la opeidon

correcta

{a) sutobiografia (i} Siete gatos para Simenon
(b) novela historica (11) El pais bajo mi piel

(2] novela del dietador (iii) E! reino de este mundo
{d) novela policiara (iv) La fiesta del Chivo

(1) (a)ii), (b=, (e}-=(i), (d)-{iii)
(2) (al={i), (b)=(ii), (e)={iv), (d)=(iii)
(3 (a)ii), (h)iii), (e}iv), (d}-i)
(4) (a)diii), (b)), {ed{iv), (d}(ii)
Options:
E4535053371. 1
64535053372 2
64635053373 32

E4B250535374. 4

Question Number : 120 Question Id : 64635013571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(Cudles de los signientes N0 son factores que infuencisron el llamado
“boom” en la literatura hispanoamericana 7

a  laemigracion de escritores e intelectuales hispanoamericanos

aEuropa
b. laz obras de los grendes innovadores como Faullmer, ete.
C. larevolucidn cubana v la creacion de fuertes lazos culturales

laz compafies de alfabetizarién en América Latina

(1) ayd

2) abyd

(3) bevyd

4) a,bye
Options:
64535053375, 1
4835053376 2
4535053377 3
645350523378, 4

Question Number : 120 Question Id : 64635013571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(Cudles de los signientes N0 son factores gque infuencisron el llamade
“boem” en la literatura hispaneamericana ?

a  laemigracitn de escritores e intelectualeshispanoamericanos
aEuropa

b. las obras de los grandes innovadores como Faulkner, ete.

lareveolucién cubsna v la ereacién de fuertes lazos culturales

=TI

laz compafias de alfabetizarién en América Latina

(1) ayd

(2) abyd
(3) beyd
(4) abye

Options:



E4535053375. 1
64535053376, 2
64535053377, 3
64535053378, 4

Question Number : 121 Question Id : 64635013572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

iCuéles de los siguientes autores hispanoamericanos NO vivieron en
el exilio como consecuencia de una dictaduramilitar ?

a  Rodolfo Walsh
b. Mario Benedetti
Juan Gelmean

d. Ernesto Sabato

5

(1) avd

(2} abye

(3 bevd

(4) byd
Options:
64535053379, 1
64535053380, 2
64535053381, 2

E4dEZ5053382. 4

Question Number : 121 Question Id : 64635013572 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

iCuéles de los siguientes autores hispanoamericanos NO vivieron en
el exilio como consecuencia de una dictaduramilitar ?

a  Rodolfo Walsh
b. Mario Benedetti
Juan Gelmean
Ernesto Sabato

R P

(1) avd

(2} abye

(3 bevd

(4) byd
Options:
64535053379, 1
64535053380, 2
64535053381, 2

E4dEZ5053382. 4

Question Number : 122 Question Id : 64635013573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



El signiente fue el tituls de la novela del eseritor chilens, Ariel
Dorfman, basada en la memoria de loz que sufrieron torturaen la
dictadura, v luegoe fue convertida en una pelicula de gran éxito
internacional.

(1) 1l postinag
(2) Nopsastnada
(3) Lammuerte vladoncella

i4) Ardiente paciencia

Options:

64535053383, 1
E4E35053384. 2
645350523285, 5
64535052386, 4

Question Number : 122 Question Id : 64635013573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
El =iguiente fue el tituls de la novela del eseritor chilens, Ariel
Dorfiman, basada en la memoria de loz que sufrieron torturaen la
dictadura, v luegoe fue convertida en una pelicula de gran éxito
internarional.

(1) Il postinag
(2) Nopsasonada
(3) Lamuerteyvladoncella

i4) Ardiente pariencia

Options:

648350533831
E4E35053284. 2
645350523285, o
645350523386, 4

Question Number : 123 Question Id : 64635013574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lasiguiente ez unanevelade Cézar Vallejosobre el tema indigenista:

(1} Tungsteno
(2) Elzorro de srribav el zorro de abajo
i3) Elmundo es ancho v ajena
(4) Losheraldos Negres

Options:

64635053387, 1

64535053388, 2

E4E35053359. 2

64535052290 4

Question Number : 123 Question Id : 64635013574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lasziguiente ez unanevelade Cézar Vallejozobre el tema indigenizta:
(1) Tungsteno
(2) El zorro de srribav el zorro de abajo
i3) Elmunde ez anche v ajena
i4) Leosheraldos negres

Options:



EAE35053387. 1
645350532388, 2
645350532389, 3
64535053330, 4

Question Number : 124 Question Id : 64635013575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
De loz siguientez elementes, Jeudles pueden relacionarse con la
coleccion Canto general de Pablo Neruda?
&  un alegato contra el imperialismo norteamericano
b. la historia del continente americano
C. el elogio de la contribucion de los colonizadores
d.  unareflexién sobre el Oriente
(1) avhb
(2) a,bye
3 bevd
1) bye

Options:

64535053391, 1
E4E350533292. 2
E4E35053292. 2
64535052294, 4

Question Number : 124 Question Id : 64635013575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
De los siguientes elementes, jeuéles pueden relacionarse con la
coleccion Canto general de Pablo Neruda?
a  un alegato contra el imperialismo norteamericano
b, la historia del continente americano
C. el elogio de la contribucidn de los colonizadores
d.  unareflexién sobre el Oriente
(1) avhb
2) abye
(3 bevd
4) bye

Options:
6423505253491, 1

EAE35053392. 2
E4535053393. 3
64535053254, 4

Question Number : 125 Question 1d : 64635013576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Lasiguiente NO ez una “novela de la tierra™
(1) Los de abajo
(2) Don Segundoe Sombra
(8) DofiaBéarbara

(4) Laworéagine

Options:
64535053295, 1



E4E35053396. 2
64535053387, 3
6453505323598, 4

Question Number : 125 Question 1d : 64635013576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Lasiguiente NO ez una “novela de la tierra™
(1) Loz de abajo
(2) Don Segundoe Sombra
(8) DofiaBéarbara

(4) Laworéagine

Options:

64535053295, 1
64535053396, 2
E4E350533297. 2
645350523298, 4

Question Number : 126 Question Id : 64635013577 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ariel de Jogé Enrique Rodéd es:
(1) unaexaltacién de valores proletarios
(2) un slegato contralamizeginia
(3) un llamamiento al refinamiento intelectual
(4) unadefensade los indigenas

Options:

64535053399, 1
64835052400, 2
64535052401, 5
64535052402, 4

Question Number : 126 Question Id : 64635013577 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ariel de José Enrique Rodé es:
(1) unaexaltarién de valores proletarios
(2) un slegate contralamizeginia
(3) un llamsmiento al refinamiento intelectual
(4) unadefensade los indigenas

Options:

453505353499 1
64535052400, 2
64535052401, =
64535053402, 4

Question Number : 127 Question Id : 64635013578 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Belacione los elementos de las dos columnes v escoja la opeidn

correcta:

ia) Laesclavitud (i} Facundo

(b) Lareveluciin mexicana (ii) ILavordgine

ic) Novelade latierra (i) El dguila y la serpiente
(d) La dictadura (iv) Cecilia Valdés

Code :

(1) (aj=fii), (b)—iv), (e)={i), (d){iii)
(2) (aiv), (b)), (e)il), (d){i)
() (a)il), (i), (e)-(i), (d-v)
(4) (a)=(iii), (b)={i), (el=(iv), (d)={ii)

Options:

64535053403, 1
E4E35052404. 2
645350523405, 5
64535052406, 4

Question Number : 127 Question Id : 64635013578 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Belacione loz elementos de las dos columnes v escoja la opeién

correcta

ia) Laesclavitud (i} Facundo

(b) Larevolucitn mexicana (ii) Lavordgine

ic) Novelade latierra (iii) El dguilay la serpiente
(d) La dietadura (iv) Ceecilia Valdés

Code :

(1) (ap=dii), (b)=iv), (e)=(i), (d){iii)
(2) (a)iv), (b)-{id), (e)ii), (i)
(3) (i), ()i, (e)id), (d)~iv)
(4) (ep={iii), (b)i), (c)=(iv), (d){ii)

Options:

64835053403, 1
E4E35052404, 2
64535052405, o
645350523406, 4

Question Number : 128 Question Id : 64635013579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

El sziguiente es uno de los factorez de la independencia
latinoamericana:

(1) elfortalecimiento de la Coronaespafiola
(2) laabolicién de la eselavitud

(3) laparticipacitn plenade los indigenas
(4) laexpulsion de los jesuitas

Options:

4835053407, 1
45350532408, 2
64535052409, 5
64535052410 4

Question Number : 128 Question Id : 64635013579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



El szipuiente ez uno de los fartorezs de la independencia
latinoamericana

(1)  elfortalecimiento de la Coronaespanola

(2} laabolicién de la esclavitud

(3) laparticipacitn plenade los indigensas

(4] laexpulsion de los jesuitas

Options:

64535053407, 1
64535053408, 2
64835052409 2
64535052410, 4

Question Number : 129 Question Id : 64635013580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
De los siguientes elementos, jcuales pueden relacionarse con lanovela

experimental espafiolade los afios 607
a personaje colectivo
b. lapreccupacién por larealidad social
C. enfoque principal sohre la estructura
d. multiples enfogques narratives

(1) séloc

2] abye

(3) bevd

(4) sbéloa
Options:
4532505534111
4525052412 2
4525052412 2

E4E525053414. 4

Question Number : 129 Question Id : 64635013580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
De los siguientes elementos, Jcuéles pueden relacionarse con lanovela

experimental espaniolade los afios 607
a personaje colectivo
b. lapreoccupacién por larealidad social
C. enfoque principal sohre la estructura
d. miltiples enfogues narratives

(1) sbloc

2 abye

(3 bevd

(4) sdloa
Options:
E4E2E052411.1
E4EZE052412. 2
CE4E3E052413. 2

64535053414, 4

Question Number : 130 Question Id : 64635013581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Juan Joseé Millas es conocido por la renovacion del género breve en
forma de:

(1) gregueriss
(2) artitexto
(3) hailku

(4] crinica

Options:

64535053415, 1
64535053416, 2
64535053417, 2
64835052418 4

Question Number : 130 Question Id : 64635013581 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Juan José Millas es conocido por la renovacion del género breve en
forma de:

(1) gregueriss
(2) artitexto
(3) haiw

(4] crinica

Options:

64635053415, 1
64535052416, 2
64535053417, =
64535053415, 4

Question Number : 131 Question 1d : 64635013582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

La siguiente novela de Almudena Grandes forma parte del eiclo de
novelas de memoriazobre la guerracivil espafola:

(1) Elcorazénhelade

(2) Malena es el nombre de un tango
(3) Modelos de mujer

(4} Seldados de Salamina

Options:

64535053419, 1
64835052420 2
E4E35052421. 2
645350523422, 4

Question Number : 131 Question Id : 64635013582 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La siguiente novela de Almudena Grandes forma parte del eiclo de
novelas de memoriasobre la guerracivil espafiola:
(1) Elcorazin helado
(2] Malena es el nombre de un tango
(3) Modelos de mujer
(4) Soldados de Salamina

Options:
64235052419, 1
64635053420 2



E4E35053421. 3
BAE35053422. 4

Question Number : 132 Question Id : 64635013583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

La signiente obra teatral coincidié con la apertura democrética en
los arios 80 en Esparia

(1) Lacamisa
(2] Baarse al moro
(3} Luces de Bohemia

(4} Escuadraharialamuerte
Options:
4635053423, 1
64535052424, 2
64535053425 =
64535053426, 4

Question Number : 132 Question 1d : 64635013583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

La siguiente obra teatral coincidié con la apertura democrética en
los afios 80 en Espana

(1) Lacamiza
(2) Baarse al moro
(3) Luces de Bohemia

(4} Escuadrahacialamuerte
Options:
64635053423, 1
64535053424 2
64535053425, 2
64535053426, 4

Question Number : 133 Question 1d : 64635013584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

El nomhbre del siguiente director de cine espafiol con renombre
internacional es relacionadoe con la movida madrilefia:

(1) Pedro Almodévar
(2) Alejandro Amenabar
(3) Guillermo del Tora
(4} Alfonso Cueto

Options:

64535053427, 1
64535053428, 2
64535053429 2
E4E35052420. 4

Question Number : 133 Question Id : 64635013584 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



El nomhbre del siguiente director de cine espafiol con renombre
internarional es relacionado con la movida madrilefia:

(1) Pedro Almodévar
(2) Alejandro Amenébar
(3) Guillermo del Toro
(4} Alfonso Cueto

Options:

64535053427, 1
E4E35053428. 2
645350523429, 5
64535052420 4

Question Number : 134 Question Id : 64635013585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
De los siguientes elementos, joudles pueden relacionarse con la obra
de Carmen Martin Gaite?
a  criticafeminista del modele de mujer ideal
b critica del nacionalisme franquista
e. laidealizeridn de lavida de provineias
d

el realismoe sueio

(1) =zéloa
2] abve
(3 bhevd
(4) avh

Options:

64635053431, 1
64535053432 2
64535053433 =
64835052424 4

Question Number : 134 Question Id : 64635013585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
De los sigunientes elementos, Jeudles pueden relarionarse con la obra
de Carmen Martin Gaite?
a  criticafeminista del modelo de mujer ideal
b critica del nacionalisme franquista
ec. laidealizacidn de lavida de provineias
d

el realismo sueio

(1) =dloa

(2) abye

3 bevd

(4) avh
Options:
C4E35052421. 1
CE4EZE0EE452 2
CAEZE052435 3

E4E35053434. 4

Question Number : 135 Question Id : 64635013586 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



{Deberialacultura latinoamericana ser nativa o importada? [ Cual
fie la posicién de Jozé Marti ante esta pregunta ?

(1) Se tratade aniquilar todo lo impoertada
(2) Hay que fomentar el provincialisme
(3) Se tratadeun false dilema

(4) Hay que importar modelos de progreso

Options:

64535053435, 1
E4E35053436. 2
45350523427, 5
64535052428, 4

Question Number : 135 Question Id : 64635013586 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

{Deberialacultura latinoamericana ser nativa o importada? {Cual
fue laposicién de Jozé Marti ante esta pregunta ?

(1) Se tratade aniquilar todo lo importada

(2) Hay que fomentar el provincialismo

(3) Se tratade un false dilema

i4) Hay que importar modelos de progreso

Options:

48350534351
45350532436 2
64535052427, o
64535052428, 4

Question Number : 136 Question Id : 64635013587 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fidel Castro creo el la siguiente desde el exilio para derrocar la
dictadura de Batista en Cuba:

(1) LaUNEAC

2} Elmovimiento 28 de julio
(3) La Bahia de los Cochinos
(4) LaEnmiendaPlatt

Options:

64535053439, 1
64535053440, 2
64835052441, =2
64535052442, 4

Question Number : 136 Question Id : 64635013587 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fidel Castro cred el la siguiente desde el exilio para derrocar la
dictadura de Batista en Cuba:
(1) LaUNEAC
(2) Elmovimiento 26 de julio
(3) La Bahiade los Cochinos
(4) LaEnmiendaPlatt

Options:
64535053439, 1



E4E35053440. 2
64535053441, 3
64535053447, 4

Question Number : 137 Question 1d : 64635013588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

La siguiente organizacién estd relacionada con la dictadura de
Rosas:

(1) Lamsazorca

(2) LaFalange

(3) Serwvicio de Inteligencia Militar

4) LaDINA

Options:

64535053443, 1
64535053444 2
64835052445 =2
4535053446 4

Question Number : 137 Question Id : 64635013588 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La siguiente organmizacidon esta relacionada con la dictadura de
Rosas:

(1) Lamsazorca

(2) LaFalange

(3) Servicio de Inteligencia Militar

i4) LaDINA

Options:

64535053443, 1
64835053444 2
64535052445 5
64535052446, 4

Question Number : 138 Question Id : 64635013589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La siguiente idea NO ze puede asocisr con las de la Segunda
Repiiblica:

(1) Laseparacion de laIglesiadel Estado

(2) Lapromulgaciin de leves para el divorcio

(3) Laeorganizacrién de los sindicates de trabajaderes

(4) Ladefensade lamonarquia
Options:

64535053447, 1
64535053448, 2
435053449, 3
64535053450, 4

Question Number : 138 Question Id : 64635013589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



La signiente idea NO se puede aseciar con las de la Segunda
Repiblica:

(1) Laseparacion de lalglesiadel Estado

(2) Lapromulgaciin de leves para el divorcio

(3] Laorganizarién de los sindicates de trabajaderes

(4) Ladefensade lamonarquia
Options:

64535053447, 1
64535053448, 2
64535053449 =2
E4E35053450, 4

Question Number : 139 Question Id : 64635013590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La poesia de Naney Morejin e inserta en lacorriente de poesia
(1} negrista
(2) dadaista
(3) modernista
(4) antropofagista

Options:
64535053451 1

E4E35053452. 2
E4535053453. 3
E4535053454. 4

Question Number : 139 Question Id : 64635013590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
La poesia de Nancy Morejin se inserta en la corriente de poesia-
(1) negrista
(2) dadaista
(3) modernista
(4) antropofagista

Options:

64535053451, 1
64535053452 2
64835053452 2
64535052454, 4

Question Number : 140 Question Id : 64635013591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La obra de Rodelfo Walsh que anticipo el género de la novela
documental es:

(1) Operacién masacre

(2) Ensangrefria

(8) Hsastano verte, Jests mio
(4) Biografiade un cimarrin

Options:

64535053455, 1
64535053456, 2
648350532457 =2



E4535053458. 4

Question Number : 140 Question Id : 64635013591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La obra de Rodolfo Walsh que anticipi el género de la novela
documental es:

(1) Operacin masacre

(2) Ensangrefria

(3) Hastano verte, Jestz mio
(4) Biografiade un cimarrin

Options:

64535053455, 1
64835053456, 2
645350523457, 5
64535052458, 4

Question Number : 141 Question Id : 64635013592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Entre los siguientes, [ quiénes apovaron @ los nacionalistas de Franco
durante la guerracivil?
a  Lalglesia vy el ejército
b Los sefioritos de Andalucia
c. Loz sorialistes v snarquistas
d Loz terratenientes de la Mancha

(1) aevd
(2) beyd
(3 abyd
(4) aye

Options:

64535053459, 1
64535053460, 2
64835052461, =2
45350532462, 4

Question Number : 141 Question Id : 64635013592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Entre los siguientes, [ quiénes apovaron alos nacionalistas de Franco
durante la guerracivil?
a  Lalglesiay el ejéreita
b Los sefioritos de Andalucia
c. Loz zorialistes v snarquistas
d Loz terratenientes de la Mancha

(1) aecvd

(2) beyd

3 abyd

(4) ave
Options:
64635053459, 1
E4535053460. 2

64535053461, 3



EAE35053462. 4

Question Number : 142 Question Id : 64635013593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
En la guerra civil espafiola, Dolores Iharruri fue lider:
(1) falangista
(2) comunista
(3) socialista
(4) snarquista

Options:
4535053463 1

E4E35053464. 2
E4E35053465. 3
E4535053466. 4

Question Number : 142 Question Id : 64635013593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
En la guerracivil espafiola, Dolores Iharruri fue lider:
(1) falangista
(2) comunista
(3) socialista
(4d) snarguista

Options:

4535053463, 1
64535052464, 2
64535053465 =
64535053466, 4

Question Number : 143 Question 1d : 64635013594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
El concepto de transmodernidad desarrollade por Enrigue Dussel se
refiere a
(1} las posibilidades creativas propias de unacultura
(2} labiculturalidad de lafrontera
(3) lacépulade culturas que generaunanuevasustancia
(4) laafirmacitn de momentos culturales delaexterioridad de la
modernidad
Options:
CAEZE053467. 1
CAEZE052465. 2
4525052469 2

64535053470, 4

Question Number : 143 Question Id : 64635013594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Elconcepto de transmodernidad desarroellade por Enrigue Dusszel se
refiere o

(1) las posibilidades ereativas propias de unacultura
(2] labiculturalidad de lafrontera
(3) laecépulade culturas que generaunanuevasustancia
i4) laafirmacion de momentes culturales de la exterioridadde la
modernidad
Options:
C4dE325052467. 1
C4dc3IE0534e8. 2
E4EZE0EE4E9 2

E4E35053470. 4

Question Number : 144 Question Id : 64635013595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Cual de los siguientes NO ez parte de la troika de cinesstas
mexicanos renombrados?

(1) Alejandro de Ifarritu
(2) Guillermo del Toro
(3) Héctor Babenco

(4) Alfonso Cusron

Options:

64635053471, 1
E4E35053472. 2
64535052472, 5
64535052474, 4

Question Number : 144 Question Id : 64635013595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

{Cual de los siguientes NO es parte de la troika de cinesstas
mexicanos renombrados?

(1) Alejandro de Ifarritu
(2) Guillermo del Toro
(3) Héctor Babenco

(4) Alfonso Cusron

Options:
64535053471, 1

E4E35053472. 2
E4E35053473. 3
EAE350534 74, 4

Question Number : 145 Question Id : 64635013596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
El conceptismo se asociacon lafigura de:
(1) Francisco de Quevedo
(2) Luisde Géngora
(3) Santa Teresade Avila
(4) Jorge Manrique

Options:
64535053475, 1
64535053476, 2



EAE35053477. 3
64535053478, 4

Question Number : 145 Question Id : 64635013596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
El conceptismo se asociacon lafigura de:
(1) Francisco de Quevedo
(2) Luisde Géngora
(3) Santa Teresade Avila
(4) Jorge Manrique

Options:

64535053475, 1
48350532476 2
4535053477, 2
64535052478, 4

Question Number : 146 Question Id : 64635013597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La Caravana Migrante ze refiere ala emigraciton de:
(1) jowvenes desde provinrcias paratrabajar en las magquiladoras
(2) miles de centroamericancs haciaEstados Unidoes
(3) gitanos desde laIndiaheacia Espafa
(4) eubanes haeia Miami tras el triunfo de la Revelueidn

Options:

64535053479, 1
645350534380 2
64835052481, =2
645350524582, 4

Question Number : 146 Question Id : 64635013597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La Caravana Migrante ze refiere ala emigraciton de:
(1) jowvenes desde provinrcias paratrabajar en las magquiladoras
(2) miles de centroamericancs haciaEstados Unidoes
(3) gitanos desde laIndiaheacia Espafa
(4) eubanes haeia Miami tras el triunfo de la Revelueidn

Options:

64535053479, 1
645350534380 2
64835052481, =2
645350524582, 4

Question Number : 147 Question Id : 64635013598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lasiguiente obra de Rafael Alberti son sus memorias:
(1) Marinera en tierra
(2) Laarboledaperdida
(3) Calvecanto
(4) H'ijns de laira



Options:

645350534583, 1
648350524584 2
E4E35053485 =2
645350524586, 4

Question Number : 147 Question Id : 64635013598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lasigniente obra de Rafael Alberti son sus memorias:

(1) Marineroen tierra

(2) Laarboledaperdida

(3) Calycanto

i4) Hijosdelaira

Options:

E45250524835. 1

E4535053454. 2

64535053485 2

64635053456 4

Question Number : 148 Question 1d : 64635013599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Relacione los elementos de les dos columnes v escoja la opeidn

correcta

(a) Luis Fonsi (i) “Graciasz alavida”
(b) Enrique Iglesias (1) “Chantsge”

(e} Shakira (iii} “Bailamos”

(d) Violeta Parra (iv) “Despacito”
Code :

(1) (aki), (b)), (i), (d)id)
(2) (a)=(iv), (b)=(iii), (e)=(ii), (d)=(i)
(8) (ai), (b)iii), (e}ii), (dM{iv)
(4) (a)iil), (bi), (eHiv), (d)ii)
Options:
E4E25052457. 1
EAE25053488. 2
E4535053459. 3
64535053450 4

Question Number : 148 Question 1d : 64635013599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Relacione los elementos de las dos columnes v escoja la opeidn

correcta

(a) Luiz Fonsi (i) “Grociosalavida”™
(b) Enrique Iglesias (11} “Chantsge”

(e} Shakira (iii} “Bailamos”

(d} Violeta Parra (iv) “Despacito”
Code :

(1) (aid), (b)-Hiv), (edHi), (d)iii)
(2) (a—iv), (b)—iii), (e)ii), (d)~i)
(@) (), (b)=ii), (e)ii), (d)(iv)
(4) (@i, bii), (e)iv), (i)



Options:

64535053487, 1
64835052488 2
E4E35052489 =2
64535052490, 4

Question Number : 149 Question Id : 64635013600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La siguiente obra de Gabriel Celaya es una muesira de la poesia
social espafiola
(1) Declareo eneclare
(2) Angel fieramente humano
(3) Sombra del paraiso
(4) Poesiadel momento

Options:

64535053491, 1
E4E35052492. 2
64535052492, 5
64535052494 4

Question Number : 149 Question Id : 64635013600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
La siguiente obra de Gabriel Celaya es una muesira de la poesia
social espaiiola
(1) Declaro eneclare
(2) Angel fieramente humano
(3) Sombra del paraiso
(4) Poesiadel momento

Options:

E4E535053491. 1
645350523492, 2
64535052492, o
64535053494 4

Question Number : 150 Question Id : 64635013601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
El amor como instinto sexnal se refleja en:
(1) Arcipreste de Hita
(2) Maimonides
(8) Jusn Ruiz de Alarcén
(4) Luis de Gingora

Options:

4835053495, 1
45350532496, 2
64535052497, o
64535052498, 4

Question Number : 150 Question Id : 64635013601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1)
(2)
(3
(4

El amor como instinto sexual ze refleja en:
Arcipreste de Hita

Maimonides

Juan Ruiz de Alarcon

Luis de Gingora

Options:

64535053495, 1
64535053496, 2
64835052497, 2
64535052495, 4



